
 

 

 

 

=SUMMENPRODUKT((Januar!$E$7:$E$47=Status!$C$2)*(Januar!$F$7:$F
$47=Status!$C$3)*(Januar!$G$7:$G$47=Status!$C$4)*(Januar!$H$7:
$H$47=Status!$C6)*Januar!$J$7:$J$47)+SUMMENPRODUKT((Januar!$E$
57:$E$97=Status!$C$2)*(Januar!$F$57:$F$97=Status!$C$3)*(Januar
!$G$57:$G$97=Status!$C$4)*(Januar!$H$57:$H$97=Status!$C6)*Janu
ar!$J$57:$J$97)+SUMMENPRODUKT((Januar!$E$106:$E$146=Status!$C$
2)*(Januar!$F$106:$F$146=Status!$C$3)*(Januar!$G$106:$G$146=St
atus!$C$4)*(Januar!$H$106:$H$146=Status!$C6)*Januar!$J$106:$J$
146)+SUMMENPRODUKT((Januar!$E$155:$E$195=Status!$C$2)*(Januar!
$F$155:$F$195=Status!$C$3)*(Januar!$G$155:$G$195=Status!$C$4)*
(Januar!$H$155:$H$195=Status!$C6)*Januar!$J$155:$J$195)+SUMMEN
PRODUKT((Januar!$E$204:$E$244=Status!$C$2)*(Januar!$F$204:$F$2
44=Status!$C$3)*(Januar!$G$204:$G$244=Status!$C$4)*(Januar!$H$
204:$H$244=Status!$C6)*Januar!$J$204:$J$244) 

 


